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Sl. No.1
QBID:1554921

Choose the correct form of verb to fill in the blank.

Knowledge 1s that we can not know.
(1) known

(2) without know

(3) knowing

(4) know

Prafafad ¥ 9 S1--91 oo W T8l § 2
(1) &

(2) 9

3) &

(4) @

1[Option ID=6601]
2[Option ID=6602]
3[Option ID=6603]
4[Option ID=6604]

Sl. No.2
QBID:1554922

Choose the correct pair of prepositions, in the correct sequence. from among the
four options given, to fill m the blanks i the following sentence :

The book was lying the table and the papers were that.
(1) m; under

(2) besides; underneath

(3) above: over

(4) under: underneath

fe=l & 1 fbert T & 2

(1) 9

(2) 11

(3) 12

(4) 13

1[Option ID=6645]
2[Option ID=6646]
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3[Option ID=6647]
4[Option ID=6648]

Sl. No.3
QBID:1554923

Pick out the correctly spelt word.

(1) assiduous

(2) asiduous

(3) assidous

(4) assedious

AR (3) F e # - 9w emE ® 2
(1) 9% =R H W &1 Mawaedl gl & |
(2) TR H W@ ggd Al ¢ |

(3) TR $I T W H B 0§ |

(4) FTER IR & Gl F 30 H @ A & |

1[Option ID=6673]
2[Option ID=6674]
3[Option ID=6675]
4[Option ID=6676]

Sl. No.4
QBID:1554924

Identify the correct form of indirect speech of the following sentence.

The teacher said to Arjun. "Go away."

(1) The teacher requested Arjun to go away.

(2) Arjun asked the teacher if he could go away.
(3) The teacher ordered Arjun to go away.

(4) The teacher told Arjun that he can go away.

H 31 FyA faU 0§ U e (Assertion A) F ¥ H & € 1 g8 39S BRU
(Reason R) & ¥4 #:

AUFYT A ; AT I Tk 7 |

HRUT R ; I8 Rleg 93pd 7 ¥ Hdd gU 81 W 95d 3R 9! It &1 gal gl @ |

SRIE HYF & S d, - U M fased! H 9 999 Suged IR &1 994 S |
(1) A SRR Sl W6l € iR R, A %1 9l ooren 8

(2) AR R I wEI € A R, A 3 981 =ren T 8

(3) AT R AR R ORI A &

(4) A ¥l 781 ¢ Ui R 981 8

1[Option ID=6677]
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2[Option ID=6678]
3[Option ID=6679]
4[Option ID=6680]

Sl. No.5
QBID:1554925

Rearrange the followmg parts of a sentence labeled as PQRS to make a
meaningful sentence

P it clearly 1s no better than
Q having knowledge but
R never having any ideas at all

S lacking the power to express
(1) RPQS5
(2) QPRS
(3) QSPR
(4) SPRQ

= 21 v 2y 70 8 U ofUEuU (Assertion A) F ¥ H [fEd € O gHU 39 SRU
(Reason R) @ »4 #:

H®YT A ;T Weg B SUGN O] & 100 el o], g N & A9 & U S § |
HRU R : 59 &9 R & 390l § 98 SRS 99 Tl 9aef § |

SWRIFd $Y & @S |, A" G670 fdmed] J § Hel St &1 997 B |
(1) ASRREATUE IR R, A 91 98l @ &

(2) A ¥R R H 90 & AT R, A #1 981 = 6l &

(3) ANO 2GR o 8

(4) AU eaFEIR Id 8

1[Option ID=6681]
2[Option ID=6682]
3[Option ID=6683]
4[Option ID=6684]

Sl. No.6
QBID:1554926

Pick out the antonym of 'vulnerable’
(1) Stoicism

(2) Immune

(3) Incompetent

(4) Capable
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e & 9 o= wiftares 93 98 & -

A T

B. I
C. 7T
D. =l
E. fBm

At fou 1 fawedl § € 981 I &1 994 Sifv:
(1) A.B3RC
(2) B.C3RD
(3) C.DRE
(4) B.C3RE

1[Option ID=6685]
2[Option ID=6686]
3[Option ID=6687]
4[Option ID=6688]

Sl. No.7
QBID:1554927

Pick out the meaning of the underlined idiom m the following sentence.

Rina broke off i the middle of her story.

(1) left
(2) began anew

(3) stopped suddenly
(4) clarified

= 1 & |1y = 11 1 3 #ifon

& !
A. SeTHREgs diAgma s I
B. FH @Y S ar I
. SHETEA X aren I11.
D. TET SR FUI-ga HieH &34 are IV,

=4 feu 1 fawedl § € 981 I &1 994 Hifve:
(1) A-III, B-IV, C-1., D-II
(2) A-I, B-II, C-III. D-IV
(3) A-II. B-III. C-IV, D-I
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(4) A-IV, B-1., C-II, D-III

1[Option ID=6689]
2[Option ID=6690]
3[Option ID=6691]
4[Option ID=6692]

Sl. No.8
QBID:1554928

Choose the correct passive voice form of the following sentence.

We ought to respect our teachers.

(1) Our teachers must be respected.
(2) Our teachers should be respected
(3) Our teachers ought to be respected.

(4) We need to respect our teachers

i &1 wu g T &
®Y | - 3T T HeTok &1 v o g gear Mea g |

&Y [ 1 : Titee oo @ 58&1 3ugad o & 'WH &1 gu g |

Iqiiad ®YF & HEE 8, A G 0 Geed! # 9 95l SU &1 994 i

(1) SE AR e 5T 2
(2) YA AR II a1 o9 8
(3) ®u [ 9 & Qfee B 11 39 &
(4) T AT, AlpT U1 A &

1[Option ID=6693]
2[Option ID=6694]
3[Option ID=6695]
4[Option ID=6696]

Sl. No.9
QBID:1554929

Pick out the synonym of the following word.

envisage
(1) command

(2) condemn
(3) contemplate

(4) curious
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Frofafed # @ o oy & waerdi § 2
A SiH
B. difg
C.avd

D. T

E. gl

e fau v el § 9 T8t IR &1 994 S
(1) HaA A, C 3R E
(2) HaaB.D AR E
(3) Ha@ C,D SR E
(4) ST A, B 3R D

1[Option ID=6697]
2[Option ID=6698]
3[Option ID=6699]
4[Option ID=6700]

Sl. No.10
QBID:15549210

Choose the correct sentence.

(1) I found the food unedible.
(2) 1 found the food inedible.
(3) 1 found the food inaudible
(4) 1 found the food unedible

Fofefea # 9 sms el &1 907 Sifau |

A Tz IR i &1 R 9 ¢ |

B. 91 qfere &1 ST § |

C. o Fel | Al s g R g

D. & U9 &3 Uedl § 28 &% 3@ o7 |

E. 9391 & & UIel & a9 A &5 §gd el a9l |

i fag ¢ fawedl § 9 999 S9gsd I &1 997 SIg:
(1) %30 C.D. E
(2) 3T A. B.D
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(3) #a@ A.B.E
(4) #a@ B. C.D

1[Option ID=6605]
2[Option ID=6606]
3[Option ID=6607]
4[Option ID=6608]

Sl. No.11
QBID:15549211

'Commemorative Stamp' is printed in honour of specific person, while the
postage stamps for regular use are called :

(1) Post - Stamps

(2) Regular Stamps
(3) Definitive Stamps
(4) Postal Stamps

RS o1F fewe 4! iy =ofeq & w9= o 810 9id &, weie i soar o oF
s1& & fewel &1 9 #5191 © -

(1) S%-fewe @Re-wm)

(2) fafiE o fewe qae-wm)
(3) =t o1& fewe (Eiftefafea wrm)
(4) =F/EEE Eee [dred 2

1[Option ID=6609]
2[Option ID=6610]
3[Option ID=6611]
4[Option ID=6612]

Sl. No.12
QBID:15549212

Identify the location of India's Astronomical Observatory.
(1) Itanagar

(2) Bangalore

(3) Sriharikota

(4) Ladakh

WReTg it demmen s a2

(1) $EFR

(2) &R

(3) dish®rer
(4) TETE

1[Option ID=6613]
2[Option ID=6614]
3[Option ID=6615]
4[Option ID=6616]
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QBID:15549213
Given below are two statements: one i1s labeled as Assertion-A and the other is
labeled as Reason-R

Assertion A : It 1s reported in The Hindu recently that custodial death (both police
and judicial) amounted to more than 11 thousand in the last few years.

Reason R : Police brutality in Indian jails has increased many times.

In light of the above statements. choose the correct answer from the options given
below :
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are but R 18 NOT the correct explanation of A

(3) A is true but B 1s false
(4) A is false but R 1s true

= &1 BYA 13U Y §: U SfHEUA (Assertion A) % w9 H fif€d 8 a1 gO0 396 SR
(Reason R) & 30 #:

HHFEYT A - T B H © g ermer ¥ sam e o ol | gfew ok =nfde)
e A Il eI aRE A gs ¢ |

SR R : YR well § g & Hidl &8 1 98 15 6 |

SR HUA & AP §, g [§U T fAeed! H § 999 Iugad 3% &1 999 HIg |
(1) A SRR EHE ¥81§ #RR, A 1 95 a1 &

(2) A 3R R Ml 981 § 9feA R, A 31 951 sarem 181 &

(3) ATSZ AR O AR %

(4) ATEl TRIBaFA R W 2

1[Option ID=6617]
2[Option ID=6618]
3[Option ID=6619]
4[Option ID=6620]
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QBID:15549214

What is the largest organ of human body ?
(1) Bram
(2) Lung
(3) Skin
(4) Stomach
AHg-THR &1 T4 g1 A | ?
(1) #AfErs
(2) FEHSI
ogdl
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(3)
(4) T/ 3HEE

1[Option ID=6621]
2[Option ID=6622]
3[Option ID=6623]
4[Option ID=6624]

Sl. No.15
QBID:15549215

Identify the correct combination of elements in Permafrost.

A. Soil
B. 01l

C. Gravel
D. Sand
E. Ice

F. Snow

Choose the correct answer from the options given below :
a) C.D.B.F
2) A.B.D.E
3) A.C.D.E
4) A.B.E.F

QIJER-HH § Tl & Fol 99 P! UgaH BT |
A. Tal
B.dd
C. gordl
D. @],
E. %
F.f&d
1= fau e fa el © 9 Hel SR &1 997 SIfviE:
1) C.D.B.F
2) AAB.D.E

3) A.C.D.E
4) A.B.E.F
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1[Option ID=6625]
2[Option ID=6626]
3[Option ID=6627]
4[Option ID=6628]

Sl. No.16
QBID:15549216

A crossing had four paths leading to College. Hospital, School and Market. If Ram
has to reach Market from Hospital, he has to travel towards East and cross the
crossing. If College is in the North of the crossing. in which direction 1s School
from the crossing?

(1) North

(2) South

(3) East

(4) West

U GRIE | IR I Bl SEIAT, THA AR TR B W0 § | TG TH BRI G GO
UEg B a1 99 9 @1 AR A1 9o AR IRIE1 R H31 S | 91E Sl 9RE ° 9
femAd dipaare S feafemad 2

(1) 3=i¥

(2) afEm

(3) @
(4) ofag

1[Option ID=6629]
2[Option ID=6630]
3[Option ID=6631]
4[Option ID=6632]

Sl. No.17
QBID:15549217

A statement is followed by two courses of action. Assume everything in the
statement 1s true and on the basis of the mformation given n the statement
decide which of the course of action logically follows for pursumng

Statements :

The Helicopter service in U. S. 1s running mto losses since its launch 20 years

back.

Course of Action

Statements : (I) The helicopter service should be given financial assistance of $
300 million dollars to sustain itself.

Statements : (II) The helicopter services should hire a consultant who can advise
them measures which can be taken to reduce expenditure.

(1) Only (I) follows
(2)
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Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows
oA s ag gl ha-y UM I i s A 9a $2 90 ¢ | goadod H &l 75
T & YR R g5 Ffa Fifn & oifés ¥0 9 $F w1 oy so=mn o =ifee 2
ooy

ST H BlepR-Sa1 20 99 Ra IR UREe S Ta S S ue § el © |

fvar-9y : (1) eefiemeR-9a &1 $ 300 fftm= s 1 &xita vergar 41 9 9ifey arfe 9
@Y ®I HUIE 96 |

(I1) TeieER-ga1ef &1 TF Wil @1 981 4TS 0% -1 9l @ 96 @4 9ar a”l
Hehl & X H 901E ¢ 9@ |

(1) Faa (1) Fel 7 |

(2) Fad (1) ¥ ¢ |

(3) EHf (1) IR (1) 91 2 |

(4) Fa () MRAF ) T8 |

1[Option ID=6633]
2[Option ID=6634]
3[Option ID=6635]
4[Option ID=6636]

Sl. No.18
QBID:15549218

The following question has a statement & three conclusions. Check the
conclusion on the basis of the statement and choose the correct option :

Statement : A manager advised seven workers to resign due to low productivity
or they will be terminated tomorrow. Six workers resigned immediately.

Conclusion : (1) One worker will resign tomorrow.
(11) The manager will terminate him tomorrow.

(u1) The workers may not resign and shall also not be termumated.
(1) Only (1) follows

(2) Ounly (u) follows

(3) Only (i) follows

(4) Etither (1) or (u) follows
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frafafad uy & te oYA 3R OF e R T § | Y9 & 3R 1R st
BT WRIEUT BT 3R F5! faded I+ -

HYA : TP YEYD - H SAIeHdl & HRUI U1 HIHITRI B S&IH] & Bl

g%%m‘oﬁ 31 36 DA Hargdd DR (401 ST | T8 BRI A dabldl S|
|

Ty : (i) U SR Fd S 1B1  |
(if) TEY® I Dl Yarad D & |

(iii) DTHIR SXIP] ol & Febdl SR - 8 Yarad a1 ST |

(1) Fad (i) A I 8

(2) Pad (i) AT BT B

(3) Pad (iii) AL BIAT §
(@) TIST () 1 (i) AL ST &

1[Option ID=6637]
2[Option ID=6638]
3[Option ID=6639]
4[Option ID=6640]

Sl. No.19
QBID:15549219

There are three intersecting circles I, S, P. Circle I stands for Class XII . S stands
tor Students and P stands for Poor. Different regions are represented by letters
from a to g.

\

Which region is represented by Class XII students who are not poor ?
(1) Onlya

(2) Ondd
(3) Bothaandd
(4) Only b
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I.S. AR P dF W=l ga § | 1 P& 1201 & oL 8. s SHEI & g iR p e
& T | SIAT-SIET 8 Bl a | ¢ TP P 3HeR] U AT TG |

a’a

B

ST &7 T8 124 Ban S ol Bl exiar g o el g2 -
(1) $dd a

(2) Hadd

(3) 3 3R baHl

(4) Hadb

1[Option ID=6641]
2[Option ID=6642]
3[Option ID=6643]
4[Option ID=6644]

Sl. No.20
QBID:15549220

A Statement is followed by two courses of action. Assume that the information
etven in the statement is true. On the basis of the statement decide which course
action logically follows for perusing.

Statement :

The Chief Mimister has recerved a complamt regarding demand of bribe by a
senior officer for favormg an industry.

Course of action :

(1) The mvestigating agency should catch the officer red handed and take legal
course of action.

(1) The Chief Minister should wait for more complamts about the officer as this
might be one odd case.

(1) Only (1) follows

(2) Only (u) follows

(3) Neither (1) nor (1) follows
(4) Both (1) and (i) follow
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T HE S YA G FREA S T T 1 aA & sy & § T G w § | FUH & R
R e 3 afes 30 ¥ ®F 9 SR ar el 8

w=YA

fodl S &1 va o9 & g aE ofie g vy 31 7 & ded H ue Rema g
&I U g5 |

CACICIEE
(i) wa goldt &1 Sfiert &1 -3 uss1 91fey SR S SRAE S 9I1Ry |

(if) T B AT F AR F R e RIS 51 SauR S AR i TE
HIATETT VST 51 9l ¢ |

(1) &ad (i) aFEE &

(2) & (i) TR B &

(3) T (i) 3R T (ii) TS E

(4) (i) 3R (i) <1 aF Ea &

1[Option ID=6649]
2[Option ID=6650]
3[Option ID=6651]
4[Option ID=6652]

Sl. No.21
QBID:15549221

One tap can fill an empty cistern m 2 hours and another tap can empty the same
filled cistern in 3 hours. The time taken to fill the cistern if both the taps are
opened, is :

(1) 6 hours

(2) 7 hours

(3) 6.30 hours

(4) 8 hours

U 0 6 Al $75 &1 2 9e # WX ghal § 4R U 90 39 W gU oS &I 3 °9¢ § |l
Y GHal ¢ | afg SFf 70 gd gU el a F &1 WA § fba wmg @ 2

(1) 6

(2) 74

(3) 6.30 <

(4) 82

1[Option ID=6653]

2[Option ID=6654]

3[Option ID=6655]
4[Option ID=6656]
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In how many different ways can the letters of the word THERAPY be arranged
so that the vowels never come together ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

¥eg THERAPY & &Rl &1 09 - adie! § daifoa o o 9&al &, oA =% 3R
w4 4 91y 7 31 g ?

(1) 1440

(2) 5040

(3) 3600

(4) 4800

1[Option ID=6657]

2[Option ID=6658]

3[Option ID=6659]
4[Option ID=6660]

Sl. No.23
QBID:15549223

In the four consecutive prime numbers that are in ascending order, the product
of first three 15 385 and that of last three 15 1001. The largest prume number 1s :
(1) 11

(2) 13

(3) 17

(4) 19

TR HHITE SHTST SE HRE %0 # € | 378 § Ugd &9 ST A% 385 © &k 918 3
= demai #1 qUEEa 1001 7 | 579 99 g5 ST SE $E A 8 2

(1) 11

(2) 13

(3) 17

(4) 19

1[Option ID=6661]

2[Option ID=6662]

3[Option ID=6663]
4[Option ID=6664]

For More PDFs Visit: LearningMantras.com
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QBID:15549224

If 1.5 = 0.04y. then the value of }Y—X 1s:
y+x

(1) 730077

(2) 73/77

(3) 7.3/77

(4) 0.73/77
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e 1.5x=0.04y 2H Y—X FAFFE?
y+x

(1) 730/77

(2) 73/77

(3) 7.3/77

(4) 0.73/77

1[Option ID=6665]

2[Option ID=6666]

3[Option ID=6667]
4[Option ID=6668]

Sl. No.25
QBID:15549225

The sum of the present ages of father and son is 90 years. 10 years earlier, the
ratio of their ages was 5:2. The present age of the father is :

(1) 65 years
(2) 68 years
(3) 60 years
(4) 70 years

i iR g3 ®1 aau= gt F19M 90 a4 § | 10 99 I5a, S9! g F &g F1 3 5:2
ul | Ra S ada sy Em g 2

(1) 6599
(2) 68 ad
(3) 60 a9
(4) 70 =

1[Option ID=6669]
2[Option ID=6670]
3[Option ID=6671]
4[Option ID=6672]

Sl. No.26
QBID:1354681

As per the principle of . no one can make profit by insuring with
multiple mnsures.

(1) Co-insurance
(2) Indemmnity
(3) Subrogation

(4) Contribution

G & 9K SgamEais & 1Y 4| &3 [ul &I 0 Ty

g 5! & IHdll
(1) Hz-9H

(2) efergfel
(3) HFRMA
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(4) =EEH

1[Option ID=5401]
2[Option ID=5402]
3[Option ID=5403]
4[Option ID=5404]

SI. No.27
QBID:1354682

Which principle of Insurance is not applicable to life Insurance ?

(1) Utmeost Good faith
(2) Causa proxina
(3) Subrogation

(4) Insurable Interest

®IH-91 S g oifaa &t & g o =t gran

(1) 3 3

(2) e i
(3) IR

(4) dm-arg i
1[Option ID=5445]
2[Option ID=5446]

3[Option ID=5447]
4[Option ID=5448]

Sl. No.28
QBID:1354683

Match List - I with List - II

List -1 List-II
(Specific Sector) (Regulatory Body)
A |Capital Market I |[TRAI
B [nsurance Sector II |RBI
C [Banking Sector IIT |SEEI
D |Telecom Sector IV [[EDA

For More PDFs Visit: LearningMantras.com

Choose the correct answer from the options given below :

(1) A-IIL B-IV, C-1, D-II
(2) A-III. B-1. C-IV, D-I1
(3) A-III, B-IV, C-II. D-I
(4) A-I. B-IIL. C-IV, D-II
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Il 1S 1Y Gl 11 DT e Sifoy

Tl i
(fafam & fam® Ao
NECIEIES 1 3R T e
B. &1 & 11 3R & 315
lc. dfdbm &3 111 a0 3§ STy
D <ol &F TV 333K af T
- fau e famenl & 9 Hel SR &1 994 Difoe:

(1) A-III, B-IV. C-1. D-II
(2) A-III. B-I. C-IV, D-II
(3) A-III, B-IV. C-II, D-I
(4) A-I, B-III. C-IV. D-II
1[Option ID=5489]
2[Option ID=5490]

3[Option ID=5491]
4[Option ID=5492]

Sl. No.29
QBID:1354684

The share capital of a RRB is subscribed by Central Government the state
Government and sponsoring bank in the ratio of :

(1) 50:25:25

(2) 50:15:35

(3) 40:30:30

(4) 40:40:20

UF T 85T §F $1 Uol § 5 TeR, Ts0 WaR ayl 90 &6 &1 sueH FE A ¥
g aE & 8 22

(1) 50:25:25

(2) 50:15:35

(3) 40:30:30

(4) 40:40:20

1[Option ID=5533]

2[Option ID=5534]

3[Option ID=5535]
4[Option ID=5536]

Sl. No.30
QBID:1354685

Which of the following banks is established to support Agricultural Fimance ?
(1) SBI

(2) RBI

(3) NABARD

(4) Bank of Baroda
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frafeafaa & 3 f5a ¥ =t @ S Gadm $t s & o g &
(1) yRd v §%

(2) HRdE fod &%

(3) AErE

(4) &F 3k FSiaT

1[Option ID=5577]

2[Option ID=5578]

3[Option ID=5579]
4[Option ID=5580]

SI. No.31
QBID:1354686

Which of the following is not an asset of Commercial Banks ?
(1) Bills of Exchange

(2) Demand Deposit

(3) Cash Reserve with RBI

(4) Money lent to customers

fafefEa # @ sF-a aftfcrs d% o1 ofwnf 78 &

(1) fafHmg gz

(2) =i wE

(3) yRdE Tgd §F & 919 %5 ARIET

(4) RSl B IYR &1 T Hal

1[Option ID=5621]
2[Option ID=5622]
3[Option ID=5623]
4[Option ID=5624]

Sl. No.32
QBID:1354687

Which of the following is the Asset function of money ?

(1) Unut of Account
(2) Medmum of Exchange

(3) Standard of deferred payment
(4) Store of value

g & ST ga1 &1 gl gl w1 2
(1) o g

(2) fafHg =1 ArEA

(3) =T YaH &1 7S

(4) ¥ F IR

1[Option ID=5665]
2[Option ID=5666]
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3[Option ID=5667]
4[Option ID=5668]

Sl. No.33
QBID:1354688

In order to merease money supply m the economy :

(1) Bank Rate and CRR should be increased

(2) Bank Rate should mncrease and CRR should decrease
(3) Bank rate should decrease and CRR should mcrease
(4) Both Bank Rate and CRR should be decreased

anfoaw ® qe 1Y F1 S F faw:

(1) &% 92 U1 7Fq ARET qUd S ggrl &A1 Afayl

(2) F ST F GgMEI AT GUT FHe JRIFT AU &I HH S TNt
(3) @ ST B HH HLAI AR TUT Ade HRIGT I FEHI AeT
(4) % X TU TFc AR G0, THf B 51 FH H e

1[Option ID=5693]
2[Option ID=5694]
3[Option ID=5695]
4[Option ID=5696]

Sl. No.34
QBID:1354689

Which of the following functions are involved under marketing management's
functions ?

A. Collection of marketing
B. Marketing co-ordination
C. Marketing controlling
D. Marketing planning

E. Marketing Evaluation

Choose the correct answer from the options given below :
(1) A.Band C

(2) AABandD

(3) A.B.C.and D

(49) AAB.C.DandE
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s id s g R W F el S A e & 7
A. fauue &1 S

B. fguu= wr=g

C. TguuH Fg=m

D. fguum g

E. fauuH feaiea

i fau U fosedl § & HE! SR &1 999 ST
(1) A.Band C

(2) AABand D

(3) A.B,C.andD

(49) AAB.C.Dand E

1[Option ID=5697]

2[Option ID=5698]

3[Option ID=5699]
4[Option ID=5700]

Sl. No.35
QBID:13546810

Rising promotion costs and shrinking profit margins are the results of which of
the following?

(1) Globalisation

(2) Deregultation

(3) Heightened competition
(4) Changmg technology

gl g5 HITe aFTd SiR &H Gl a4 & o™l &1 $7 51 Hafred § 9 fEas
fyue 87

(1) s

(2) ETEe

(3) wicregs| &1 gg
(4) uiygdaenl Wik

1[Option ID=5405]
2[Option ID=5406]
3[Option ID=5407]
4[Option ID=5408]

Sl. No.36
QBID:13546811

"Marketing is a human activity directed at satisfying needs and wants through
exchange processes." Who said ?
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(1) Philip Kotler

(2) Peter F. Drucker

(3) Hansi L.V.

(4) D.S. Pauler
e =1 & - Touve v gdia T & 5 ot uieanstt & g sramasarst gyt s=iet
@1 ggfy gru FEfa gt 2r
(1) Trle S

(2) Yl UF, T

(3) 30 ua. &,

(4) SI.U¥. uleR

1[Option ID=5409]
2[Option ID=5410]

3[Option ID=5411]
4[Option ID=5412]

Sl. No.37
QBID:13546812

Match List - I with List - IT

List-1 List - II
(P's of marketing) (Elements)
A [Product 1 |[Warranty
B |Price I |Credit facility
C [Promotion [IT |Personal Selling
D [Place IV |Factory Location

Choose the correct answer from the options given below :
(1) A-IL, B-II, C-III, D-IV

(2) A-IV. B-III, C-II, D-I

(3) A-III, B-I. C-II. D-IV

(4) A-IIL B-I, C-III, D-IV

AT 1% | G I W FT

T | T I
ERUEERD )
A, 3dTG [ HTGRT
B. Hd 1. B0 Jiaer
lc_ diErea [11. ATdd7Td U ° i T3 fash]
D. R V. e | &1 =M

+d feu U fap el & O el 3R Bl 9g- Difofu:
(1) A-L B-IL. C-IIL, D-IV

(2) A-IV, B-IIL, C-II, D-1

(3)
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A-III, B-I, C-II, D-IV
(4) A-IL B-I, C-III. D-IV

1[Option ID=5413]
2[Option ID=5414]
3[Option ID=5415]
4[Option ID=5416]

Sl. No.38
QBID:13546813

Advertising does not appear to be important in
(1) Brand Image
(2) Highlighting specific feature

(3) Information
(4) All of these

fafefaa ¥ O fogw fas geaygul Udid =8 gidl -
(1) FisBid

(2) A faRIydrsf uR & g1

(3) AT

(4) JURIe gl

1[Option ID=5417]
2[Option ID=5418]
3[Option ID=5419]
4[Option ID=5420]

Sl. No.39
QBID:13546814

Customers buy from stores and firms that offer the highest
(1) Company Image

(2) Value for the money

(3) Customer perceived value

(4) Level of customer statisfaction

aE® 94 VI 3R BH 9 e &3 § o S=ad

(1) U+l iy

(2) ¥= SI gfi TEt @y B g 74

(3) g NI ST He

(4) UES TIF BT wR

1[Option ID=5421]
2[Option ID=5422]
3[Option ID=5423]
4[Option ID=5424]

W B § |
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Promotion Mix is the particular combimnation of promotional tools used by a
company to with its audiences.

(1) Help

(2) Communicate

(3) Purchasing Decision

(4) Plan

g By, Waa-g S9SN $1 UF R e § o S9N gR1 o9 i /gxiet &
¥ forn Sud faan @ 2

(1) #eg

(2) Hymm

(3) wg g

(4) T

1[Option ID=5425]

2[Option ID=5426]

3[Option ID=5427]
4[Option ID=5428]

Sl. No.41
QBID:13546816

In a perfectly competitive market. a firm to be in equilibrium in the long run
achieves normal profit only when

(1) Average cost and average revenue will be equal

(2) Margmnal cost and marginal revenue will be equal

(3) Average variable cost and marginal revenue will be equal
(4) AC=I. MC=AR=MR are all equal

ol WyfErs aeR | den § 0F B Fgad # 3d gU Haq G aTH
TS HE § o

(1) 379d 9 U9 Hi9d Teed FH 81T

(2) T TN U9 HHT JeRg 9 ST

(3) Siga Rac=Eie @Td Ug SEed ToRd 9919 SR

(4) 9T FE, GG TG, ST Teed e S e 99 99 2R

1[Option ID=5429]
2[Option ID=5430]
3[Option ID=5431]
4[Option ID=5432]

Sl. No.42
QBID:13546817
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Match List - I and List - II

List-1 List - IT
(Tool / Theory) (Application)
A [Demand Analysis I [Demand forecasting
B |[Cost and Product Analysis II [Cost output relationship
C |Capital Management III [Price estimates
D [Profit Management IV IProﬂt policies

Choose the correct answer from the options given below :

(1) A-L B-IV. C-III, D-IT
(2) A-III, B-I. C-IV, D-II
(3) A-I, B-II, C-III, D-IV
(4) A-I, B-II, C-IV, D-III

T 13 |/ F@E=T I F e SaT

il =T I
GRERAEET) (ST
A T faer [ A qataH
B. TFTd U4 3G [G=c9ur i1 SR i gay
. UST mae 111 Jed HFHH
D. ATY UeeH v oy Hifa

A fgT 17 faeal 7 AR L H1 T4 T

(1) A-I B-IV, C-III, D-II
(2) A-III, B-1. C-IV, D-II
(3) A-I, B-II, C-III, D-IV
(4) A-I, B-II, C-IV, D-III
1[Option ID=5433]
2[Option ID=5434]

3[Option ID=5435]
4[Option ID=5436]

For More PDFs Visit: LearningMantras.com

Sl. No.43
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Under price discrimination, price will be higher in the market where demand is:

(1) Highly elastic
(2) Unitary elastic

(3) Less elastic
(4) None of these

ger faidien & i, aoR § g a9 afs e es g gl g

(1) Tlds dEEr
(2)
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e O
(3) FH dAEER
(4) =39 ¥ &5 781

1[Option ID=5437]
2[Option ID=5438]
3[Option ID=5439]
4[Option ID=5440]

Sl. No.44
QBID:13546819

Which of the following is the method of measuring elasticity of demand when
change m price of a commodity 1s substantial?

(1) Point method

(2) Percentage method

(3) Arc method

(4) None of these

Hra €t 715 faftrt | @1 g & Ao @1 3 o 8l 2 e i 6l o & A F oftads
S B

(1) feg faf

(2) wigeEE &g

(3) =y &y

(4) 99 =I5 780
1[Option ID=5441]
2[Option ID=5442]

3[Option ID=5443]
4[Option ID=5444]

Sl. No.45
QBID:13546820

If marginal cost is above average variable cost at a time when output is rising,
then

(1) Average variable cost is falling
(2) Average variable cost is rising
(3) Average total cost is falling
(4) None of these

afg dimia arma [ I8 990 =R oF Sde 9 Y6l & 9IR Sid IRad-Ria ard 9 s
% -

(1) sfia aitad=siia ard =9 8 @ & |
(2) i gftad-Eia ard 9 Wi e |
(3) S9d O AN HH T I & |

(4) SWied & F =15 T8 |

1[Option ID=5449]
2[Option ID=5450]
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3[Option ID=5451]
4[Option ID=5452]

Sl. No.46
QBID:13546821

Match List - I with List - IT

List-1 List- 11
(Methods of Quantitative Economics) (Tools / Techniques)
A |Inventory Control [ |Simplex
B LPP IT |Saddle point
C |Game theory III [FIFO
D [nventory Valuation IV [VED

Choose the correct answer from the options given below :
(1) A-IV. B-1. C-III. D-II

(2) A-IV. B-I. C-II. D-III

(3) A-L B-IV. C-II. D-III

(4) A-IV. B-II. C-I. D-III

U1 & A1 {2 |l 7 A= fifaT

AT =T
(TS R o fafah (SUPT | dBID)
A Th [T 1. QIR0
B. Ul Uil 11. 45 foig
lc_spts fagrd 111 UH3TSUh
D. ¥h= gt IV, digel
i U U fas el § ¥ Yl 3Tk &1 944 Biflu:

(1) A-IV, B-1, C-III, D-II
(2) A-IV. B-1. C-II. D-III
(3) A-I, B-IV, C-II, D-III
(4) A-IV, B-1I, C-I, D-III
1[Option ID=5453]
2[Option ID=5454]

3[Option ID=5455]
4[Option ID=5456]
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The EOQ of an item ig calcualted using the annual demand together with
and

(1) Indirect and Holding costs

(2) Direct and Variable costs
(3) Ordering and Holding costs

(4) Direct and Ordering costs
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it AT H aun & Y THAY IUGF Bk (Bal A &
£33y, B T B A g

(1) 39casl ayT oTied anTd
(2) weger Tu1 uftad! ard
(3) SMERMEF HSIFT qYT YTRd AR
(4) UE TUT HCETHS IS AT

1[Option ID=5457]
2[Option ID=5458]
3[Option ID=5459]
4[Option ID=5460]

Sl. No.48
QBID:13546823

Which of the following are true m the context to company law ?

. In case of transfer of shares. stamp duty is essential.
. For transmission of shares no consideration is necessary.

. 'TPO' stands for Initial Public Obligation.
. Departmental undertaking is a type of government undertaking.

HOO®E >

Choose the correct answer from the options given below :
(1) A.B.C.D

(2) A BandC

3) A.Band E

(4) All of these

S BT & deH | 9§ § $H-9 95 87

A. 3= F g & deY # ¥ g afEd Bl

B. =i & tuur F R vfea sl 8 7

C. U% %l ofad, U &l 9HG R 30 ¥ 3(i4e Uil &1 e Tol 5l ¥l
D. '#e.dL3f. sHime s siaitme & 10 vged g ¢l

E. fauriig 3usd 16 U&R &1 WHH 3UHA ¢

A fau Ty fawedl # 9 961 3T &1 994 S
(1) A.B.C.D
(2) A.Band C
(3) A.Band E
(4) All of these

. A person cannot be director of more than 30 companies at the same time.
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1[Option ID=5461]
2[Option ID=5462]
3[Option ID=5463]
4[Option ID=5464]

Sl. No.49
QBID:13546824

Match List - I with List - IT

List-1 List - II
(Serial Number of Clause) | (Title in Memorandum of Association)
A |1 1 |Object clause
E |3 II |Liability clause
cC M4 IIT |Association clause
D |6 [V [Name clause

Choose the correct answer from the options given below :

(1) A-I B-IV, C-II, D-III
(2) A-IV. B-1. C-II. D-III
(3) A-IV, B-I. C-III. D-IT
(4) A-I. B-IV, C-II, D-III

I 1o 1Y gl 11 &1 i Sifoe

I i
(@Ea’mﬂ%ﬁﬁqm mﬁﬁﬂ?ﬁqﬁ\iﬁﬁsﬂd@
A1 1. 3G Ws aied
B. 3 11. €8 We died
lc. 4 [11. Hg4Y T3 iy
D. 6 V. 91H ©g didg

i f4u U fasedl & ¥ Ul Stk &1 99 Bifelt:

(1) A-I. B-IV. C-II. D-III
(2) A-IV, B-1. C-II. D-III
(3) A-IV., B-1. C-III. D-II
(4) A-I, B-IV. C-II. D-III
1[Option ID=5465]
2[Option ID=5466]

3[Option ID=5467]
4[Option ID=5468]
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Statfing ncludes .........

A. Traming
B. Appraisal
C. Placement
D. Directing

Choose the correct answer from the following options given below :

(1) AandC
(2) Band C
3) A.Band C

(4) AAB.Cand D
itk # onfia §

A. TifRrem

B. &4 &1 HeuidA

C. =

D. =M

i feu U @l # 9 981 IR @1 94 S
(1) AandC

(2) Band C

(3) AABandC

4) A.B.Cand D

1[Option ID=5469]
2[Option ID=5470]
3[Option ID=5471]
4[Option ID=5472]
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An organisation structure is effective if it enables individuals to contribute to the
objectives of the enterprise. This i1s known as ...........

(1) Scalar principle

(2) Principle of functional definition
(3) Principle of unity of objectives
(4) None of these

{5l T 1 SXE1 a9 UHIERI BIdl & 4G 9% dieadl ®1 S99 & Sewl &1 Ifd & g
dreF & H 9&M & 21 59 FEd &l

(1) sifiser fagig
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(2) yeaiEs gfvymE &1 g
(3) Teudl & Usal &1 fasia
(4) 79§ =15 7ol

1[Option ID=5473]
2[Option ID=5474]
3[Option ID=5475]
4[Option ID=5476]

Sl. No.52
QBID:13546827

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : According to Taylor, one best way of doing each task leads to
merease mn productivity m organisation.

Reason R : It was the management responsibility alone to find out the one best
way.

In the light of the above statements. choose the correct answer from the options
orven below:

(1) Both A and R are correct and R 18 the correct explanation of A.

(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is incorrect.
(4) A is not correct but R is correct.

1 31 v fau 0§ 0 ey (Assertion A) F w9 H fifEd 8 & gEv 99% &R
(Reason R) & ¥4 #:

HUFYF A ; TR & AJIR, TS B & F9arad 271 § A1 (el ff 767 31 Sdeda
F1 TCH B TP T FLAT & |
HRU R ; TF Farad fafd ge-1 »ad Jee- &I gIiad & |

STRIFd $YT & WS H, A" [SU T fdwed] # F Hgl St 1 999 B9 |
(1) ASRREA IO E IR R, A &1 T8 @@ &

(2) A R R H TT & T R, A #1 981 = 6l &

(3) ATd 2 FTR w2

(4) AT dfET R IR

1[Option ID=5477]
2[Option ID=5478]
3[Option ID=5479]
4[Option ID=5480]
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Match List - I with List - II

List-1 Ligt-IT
{(Theories of Leadership) (Example)
A |The follower theory 1 |Effective leader
B |The Behavioural theory | II |Character of leader theory
C [The great man theory III |Leader 15 a leader
D |The trial theory IV |Personality

Choose the correct answer from the options given below :

(1) A-I, B-II, C-III, D-IV
(2) A-IV, B-1II. C-II. D-I
(3) A-III, B-IV, C-II, D-I
(4) A-IV, B-III, C-I. D-II

Il 1S 1Y Gl 11 DT e Sifoy

g -1
A STET g |L graEedt Ha
B. SIGEIR® gl |1 a1 [T o1 fa=mar
lc.mergeu e o AaratAdre
D W& g [Iv Afdda

+d feu U faedl § ¥ el IR &l 9g+ Hifolu:
(1) A-IL B-II, C-III, D-IV
(2) A-IV. B-III, C-II, D-1
(3) A-III, B-IV, C-II. D-I
(4) A-IV. B-IIL, C-1, D-TI

1[Option ID=5481]
2[Option ID=5482]
3[Option ID=5483]
4[Option ID=5484]
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Match List - I with List - II

List-1 List - II
(Element of Broad Category) (Broad Category)
A |Grapevine I [Tools of control
B |Unity of direction II [Scientific management
C |Time and Motion study III |[Form of communication
D |Budget v IManagement principle

Choose the correct answer from the options given below :
(1) A-L B-II, C-III, D-IV
(2) A-IIL B-IV, C-II, D-I
(3) A-IIL B-IV, C-I1. D-II
(4) A-IV, B-III, C-1. D-II

il 1S F1Y Gl 11 T e Sifoy

I i
(@a® it & dq@) (EaTa® &fh)
A 3UF THMER 1. (EA0 d I
B. FaxH ®f tdhdr 11, 3FTH® Tge"
lc. g 3R i Hegga 111 SUN0 &1 &Y
D. §olc V. WeeH s

=d feu U fap el § T el 3R &I 94+ Hifelu:
(1) A-IL B-IL C-IIL, D-IV

(2) A-IIL B-IV, C-II, D-I

(3) A-IIL B-IV, C-I, D-II

(4) A-TV, B-IIL, C-I, D-TI

1[Option ID=5485]

2[Option ID=5486]

3[Option ID=5487]
4[Option ID=5488]
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Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : The neglect of the human side of the organisation has been one of
the major criticisms of Taylorism.

Reason R : Taylor and his followers had viewed organisation mechanistically.
In the light of the above statements. choose the correct answer from the options
oiven below:

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.
(3) A is true but R is false.
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(4) A is false but R 1s true.

= 21 B 2y 70 8 U =fUEUT (Assertion A) F ¥ ¥ &4 € O gH0 39 SRU
(Reason R) @ »4 #:

HimyT A - 5 Te= § aad uy &t 3t eofies &) Us T S1aEAT B B
FRO R : 20X R 36 HTAEE F TeT B dFael $ T9Ne ¥ SE

S FUT F @ H, H" [GY 7 fdFedl § § g9 Iugad IR &1 999 S|
(1) A 3R R &HI 981§ SRR, A ¥ 951 oorem &

(2) A SRR gH a8l € AT R, A &1 wd oorem = 2

(3) A e 2 afea R et i 2

(4) AWE FEI 2 AFAR WE &

1[Option ID=5493]
2[Option ID=5494]
3[Option ID=5495]
4[Option ID=5496]

Sl. No.56
QBID:13546831

Sole proprictorship 1s most suitable for
(1) Small scale concern
(2) Large scale concern

(3) Medmum scale concern
(4) Person who wants to share profits

UET WIiHE 9a19% 9ugad el &

(1) @Y = &1 39 F fg

(2) =& 99H &1 3g7 F fo

(3) H=H 99 &1 I & o

(4) 7% Hied ol @Y &1 B0 U &1 95d] & 39 o

1[Option ID=5497]
2[Option ID=5498]
3[Option ID=5499]
4[Option ID=5500]

SI. No.57
QBID:13546832

Matrix organisation refers to a term of

(1) Orgamsation where authonty and responsibility co exist.

(2) Organisation in which two or more basic types of departmentation are combined.
(3) Orgamsation where events are mathematically arranged m columns and rows.
(4) None of these

3Teg (Hfgaw) W1e T8 ug &1 Heftfa &l @ -
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(1) F757 Tel WiER Tul gifita Te-HHa 7 7 |

(2) ©EA Rl & 91 8 ¥ fiF gu veR & Bur &1 9aeE § |

(3) e Wel uitgeTst Mg $u 9 =yl qur dfeqal § oafa o
(4) TFH I SIE o

1[Option ID=5501]
2[Option ID=5502]
3[Option ID=5503]
4[Option ID=5504]

Sl. No.58
QBID:13546833

Organisation theory deals with ........
(1) Industrial Relations

(2) Incentives and wages policy
(3) Structure of an organisation

(4) Forms of business organisation

RUGE R A HTER BN © |
(1) R day

(2) YICHTS U1 HelgRl i Hifd

(3) Tl G168 & G

(4) IR 184 & WHY

1[Option ID=5505]
2[Option ID=5506]
3[Option ID=5507]
4[Option ID=5508]

Sl. No.59
QBID:13546834

The scale of Goods Act, was enacted on :
(1) 15® February. 1930

(2) 15% March, 1930

(3) 15T April, 1930

(a) 15% January, 1930

a1 faspa i o arg fear man un

(1) 15 wadl, 1930

(2) 157, 1930

(3) 15 3Ud, 1930
(4) 15 w=ad, 1930

1[Option ID=5509]
2[Option ID=5510]
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3[Option ID=5511]
4[Option ID=5512]

Sl. No.60
QBID:13546835

Section 28 to 44 D of the Income Tax Act. 1961 is related to
(1) Income from House Property

(2) Income from Salary

(3) Income from Capital Gain

(4) Profits and Gans from Busmess or Profession

SR SHfafEm, 1961 & Uy 28 § 44D frwd wafim & 2

(1) 7 H9E1 & 3™

(2) T4 GRI 3@

(3) Yo WY GRT 3

(4) YR 71 SGEY gl Y T Wik

1[Option ID=5513]
2[Option ID=5514]
3[Option ID=5515]
4[Option ID=5516]

Sl. No.61
QBID:13546836

If an asset is put to use for less than 180 days m the previous year, the
depreciation 1s charged at which rate of the following as per Income tax Act ?
(1) 30%

(2) 50%

(3) 25%

(4) Nil

afg feedt ufraraty &1 180 fe7 & &0 o@fy & o o of & vgea fasn o 2, o smex
HEfEH & SR Heuer i f&w &3 & e 9 fomr s

(1) 30%

(2) 50%

(3) 25%

(4) A
1[Option ID=5517]
2[Option ID=5518]

3[Option ID=5519]
4[Option ID=5520]
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QBID:13546837



https://aglasem.com/
https://docs.aglasem.com/

Calculate the Gross Annual Value from the following details :

Municipal value : Rs. 45,000

Fair Rental value : Rs. 50,000

Standard Rental value : Rs. 48,000

Actual Rental value : Rs. 42,000

(1) Rs. 50.000
(2) Rs. 48.000
(3) Bs. 45.000
(4) Rs. 42.000

I feu U fgavw § woa affe Ty &1 TUE $1

1. ®HTEYT 7« . 45,000

[ 2]

LS

4. arsfas fawman 9e7 - +. 42,000

(1) +.50.000
(2) F+.48.000
(3) +=. 45,000
(4) ¥ 42,000
1[Option ID=5521]
2[Option ID=5522]

3[Option ID=5523]
4[Option ID=5524]

. 3fd feummn 759 . 50,000

. " {63 927 - +. 48.000

For More PDFs Visit: LearningMantras.com

Sl. No.63
QBID:13546838

Match List - T with List - IT

List-1 List - II
(Head of Income) (Part of the Head)
A |House Property I [Sale of Bond
B [Salary IT |Car Facility
C me_"irs and Gains ﬁoi_n st st
Business and Profession
D |Capital Gain IV |Income from Filing of Returns

Choose the correct answer from the options given below :

(1) A-L B-II, C-III, D-IV
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(2) A-III, B-1V, C-II, D-I
(3) A-III, B-II, C-IV, D-I
(4) A-IV, B-III. C-II. D-I

Tt - 1 Q1Y Al - 11 BT FHaH SIfey

i -1 Tl - 11
(3T BT Fld) (EId & YTy
A [T dgar 1 [§is @I fd$y
B [ddd 11 [PR 3l giger
D |gsil &y IV _[ed 43 9 giH ardl 2
=14 feu U fae el o § Tel 3 &1 9894 Sifew:

(1) A-L B-II, C-III, D-IV
(2) A-III, B-IV, C-II. D-I
(3) A-II B-II. C-IV, D-I
(4) A-IV, B-IIL. C-II, D-I
1[Option ID=5525]
2[Option ID=5526]

3[Option ID=5527]
4[Option ID=5528]

Sl. No.64
QBID:13546839

Which of the following is not applicable to responsibiluty accounting ?
(1) Accounting centre

(2) Cost centre

(3) Investment centre

(4) Profit centre

e & § e-a1 aifta deiey & o an] 38 gan

(1) TEis &=

(2) TP &%

(3) Fyom &=

(4) TH &%

1[Option ID=5529]
2[Option ID=5530]
3[Option ID=5531]
4[Option ID=5532]
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QBID:13546840

The main difference between margmal costing and absorption costing lies in the
treatment of which of the followmg ?
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(1) Duirect cost
(2) Fixed overhead
(3) Variable overhead
(4) Semi-variable overhead
Haia wrTa P qur g ara Hafo § ge odw By F e e @ g g
(1) TG4 T
(2) &Yy Iuiem
(3) oftadl ufvemg
(4) arf-ufvacd Sufver
1[Option ID=5537]
2[Option ID=5538]

3[Option ID=5539]
4[Option ID=5540]

Sl. No.66
QBID:13546841

Match List - I with List - IT

List-1 List - II
(Event) {Besults)
A |Reducing capital I [Contribution
B |Sales = Variable cost I[I |Reorganisation
C |Sale: = Break even sales III |Absorption
D  |Take-over of firm IV [[RDA

Choose the correct answer from the options given below :
(1) A-L B-II, C-III, D-IV
(2) A-IL B-I, C-III. D-IV
(3) A-IL B-I, C-IV, D-II
(4) A-IV. B-1, C-II, D-III

Il 1S 1Y Gl 11 DT e Sifoy

el -1 Tl -1
(Qi¥ee) (aroT)
A [gedigs gl I [3f=igH
B |fgshd = URadl ard 1 |[gHg7T6A
C [fdpg = ry-aH fdshd | 11 [SH/™SH 3 HH
D [Gd &I A IV [3&T &1 9T
i fdu 7T famedl & 9 o1 IR 1 904 BifoiE:

(1) A-I, B-II, C-III, D-IV
(2) A-IL B-I, C-III. D-IV
(3) A-IIL B-I. C-IV, D-III
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(4) A-IV, B-1., C-II, D-III

1[Option ID=5541]
2[Option ID=5542]
3[Option ID=5543]
4[Option ID=5544]

Sl. No.67
QBID:13546842

Internal Auditor is appomted and removed by the
(1) Management

(2) Share holders
(3) Government
(4) CAG.
fiafye SaEmiegs & fhas gr fFgea i@ a1 gemn & 91 2
(1) weEyH
(2) =X 4NE
(3) HFE
(4) HEH,
1[Option ID=5545]
2[Option ID=5546]

3[Option ID=5547]
4[Option ID=5548]

Sl. No.68
QBID:13546843

Detection of errors and fraud m audit 1s :

(1) Primary objective

(2) Secondary objective

(3) Specific objective

(4) Non-relevant objective

3fpa # 3fE U4 9@ &1 ua oA | P § ¥ s Sem &
(1) 7= 35

(2) T IEw

(3) fafte se=

(4) SRS e

1[Option ID=5549]
2[Option ID=5550]
3[Option ID=5551]
4[Option ID=5552]
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QBID:13546844
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The objective of the transportation problem 1s to :

A. Maxmmise profit

B. Minimise proift

C. Neither Maximise profit nor Minimise profit
D. Maximising loses

Choose the correct answer from the options given below :

(1) Aand C
(2) BandD
(3) Aand B
(4) AABandD

Uiae 9Nl & e §

A, TH B YHTH T

B. TFTHl &1 G0

C. 9 1 T4 AYFHTH 41, 7 5l TH HT FHISI0 S0
D. 511 &1 sfiwan s

1 feu U [l 9 999 Sugad 3T &1 994 Sifug:

(1) Aand C
(2) Band D
(3) Aand B
(4) AABandD

1[Option ID=5553]
2[Option ID=5554]
3[Option ID=5555]
4[Option ID=5556]

Sl. No.70
QBID:13546845

Under Annuity Due, payment is due at the ...............
(1) end of the time
(2) beginning of the time

(3) nmuddle of the tune
(4) none of these

ST T F AT, YTaH S SERRT $F oF g
(1) aEfy&F g d
(2) ol & o §
(3) mEuFHAOH
(4) AR A I ol

1[Option ID=5557]
2[Option ID=5558]
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3[Option ID=5559]
4[Option ID=5560]

Sl. No.71
QBID:13546846

The following is a short-run cost function
TC =200 + 5Q +2Q*

Find out the optimum level of output when AC = MC
(1) 5

(2) 10

(3) 20

(4) 25

Fofefan smasm ora e &

TC =200 + 5Q + 2Q?

T8 AC = MC Bdl SIS & S¥ad wR &I 71d Siom|
(1) 5

(2) 10

(3) 20

(4) 25

1[Option ID=5561]

2[Option ID=5562]

3[Option ID=5563]
4[Option ID=5564]

Sl. No.72
QBID:13546847

The mean monthly salary paid to 77 employees mn a company was Rs. 78. The
mean salary of 32 of them was Rs. 45 and of the other 25 was Rs. 82. What
was the mean salary of the remammg ?

(1) Rs. 1248

(2) Rs. 125.8

(3) Rs. 126.8

(4) Rs. 127.8

UF SO & 77 Sl B faan 71 A AifgE gaq w. 78 U1l 399 § 32 SHanial &
e 3 . 45 U1 SR 3T 25 SHAG! &1 . 82 U | B9 a9 gY HHEE! &1 81 dad
fdr ur 2

(1) Rs. 1248

(2) Bs. 1258

(3) Rs. 126.8

(4) Rs. 1278

1[Option ID=5565]
2[Option ID=5566]
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3[Option ID=5567]
4[Option ID=5568]

Sl. No.73
QBID:13546848

The rank correlation coefficient between marks obtamed by 10 students in
English and Mathematics was found to be 0.5. Find the sum of squares of
difference of ranks.

(1) 81.5

(2) 82.5

(3) 83.5

(4) 84.5

10 feenfifdt & o iR it & wie! & o9 $ 9t 9@ Ui 0.5 99 T $96
I F A9 F A< B G F1 TF TG Sl |

(1) 81.5

(2) 82.5

(3) 83.5

(4) 84.5

1[Option ID=5569]

2[Option ID=5570]

3[Option ID=5571]
4[Option ID=5572]

Sl. No.74
QBID:13546849

Which of the following persons are not competent to contact ?
(1) Persons of unsound mind
(2) Person disqualified by law
(3) Minors

(4) All of these
T A S er s RT s s 9sm Tl g ?
(1) 3FE® AT aTd &
(2) STA 5N oy wifta fFu o &n
(3) HraTie

(4) Soired 9l
1[Option ID=5573]
2[Option ID=5574]

3[Option ID=5575]
4[Option ID=5576]

For More PDFs Visit: LearningMantras.com

Sl. No.75
QBID:13546850

When the consent of a party 1s obtaned by coercion. undue mfluence. fraud or
misrepresentation. the contract is :

(1) Vald

(2) Voidable
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(3) Voud
(4) Illegal

ofd {3t U ggf b1 FeHfd IdisH, 3f<d yHid. drards! ar firear fAeaor 3
T P 1 &, < 96 WIGaT oo, gl

(1) g9

(2) 3HGHIIY

(3) YA

(4) TRBFLA

1[Option ID=5581]
2[Option ID=5582]
3[Option ID=5583]
4[Option ID=5584]

Sl. No.76
QBID:13546851

Given below are two statements :

Statement - I : Convenience sampling is a type of non-random sampling
methods

Statements - IT : Quota sampling 1s probabilistic sampling techmque

In the light of the above statements. choose the correct answer from the options
erven below :

(1) Both Statement - I and Statement - II are correct.

(2) Both Statement - I and Statement - II are incorrect.

(3) Statement - I is correct but Statement - II is incorrect.

(4) Statement - I is incorrect but Statement - IT is correct.

1 €1 BuA fau g &
®Y | - GaueHs Hiaes aeiess Wl [fyEf &1 te TeR & |
&Y 11 - Toa s vfiesl te niiearas ufoesf B g |

Iuilad &Y & TS §, g f3u U deedi § 9 981 IR &1 994 S |
(1) FYR] AR S TT &

(2) YA SRII ST o

(3) ®U [ 9 & Qfp By 1T 39 &

(4) S 30 B, i Bua [ 9 &

1[Option ID=5585]
2[Option ID=5586]
3[Option ID=5587]
4[Option ID=5588]
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QBID:13546852
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Match List - I with List - II

List-1 List-1II
(Statistical topic) (Method)
A |Interpolation I |Probabilistic
B |[Regression coefficients | 1T  [Newton
C |[Sampling IIT |Scatter Diagram
D |Correlation Analysis IV |Deviations

Choose the correct answer from the options given below :
(1) A-IL, B-II, C-III, D-IV

(2) A-II, B-IV, C-I, D-III

(3) A-IIL B-I, C-IV, D-III

(4) A-IV, B-III-, C-II, D-I

T 1% | G FT R R

Gall -1 gl - 11
A 3dw I [Uifiddren
B [UfdiTH Turid I [
C [afd=gd Il [¥dhed SauH
D [Geday fg=meyu v [fagad

A fGu a7 fashedl A A5 3T & 994 FHifU:
(1) A-I. B-II, C-III. D-IV

(2) A-IL B-IV. C-1., D-II1

(3) A-IL. B-1, C-IV. D-III

(4) A-IV. B-III-. C-II, D-1

1[Option ID=5589]

2[Option ID=5590]

3[Option ID=5591]
4[Option ID=5592]

Sl. No.78
QBID:13546853

The total area of a normal distribution between average value = 1.96 of standard
deviation is :

(1) 95.45%

(2) 95%

(3) 99%

(4) 68.34%

e e % Sigd 4eg = 1.96 & He §HFT 9 B §50 A0 §

(1) 95.45%
(2) 95%
(3) 99%
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(4) 68.34%

1[Option ID=5593]
2[Option ID=5594]
3[Option ID=5595]
4[Option ID=5596]

Sl. No.79
QBID:13546854

Which formula may be used for calculation of coefficient of correlation ?

(1) x = byx X bxy

(2) 7 = fbyx x bxy

i:

(3) 1 = fbyx+ bxy
(@) x = byx + bxy
ey quie @1 M0 S & 1oy e g3 %1 s fEo o e @ 7
(1) x = byx X bxy

(2) 7= fbix x bxy

i:

(3) 1 = fbyx+ bxy
(@) x = byx + bxy

1[Option ID=5597]
2[Option ID=5598]
3[Option ID=5599]
4[Option ID=5600]

Sl. No.80
QBID:13546855

Which of the following 1s not a property of standard deviation?
(1) O +k=0_+k
2 0, +k=0_
(3) G_Txk:kXGI
G

T B
4 o= k= %

FafafEa 8 @ 299 s e a6 a7 g 7
1) 6 +k=0_+k

(2) G_T+f(=5x

(3) G_Txﬁrzkxﬁx

(4)
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1[Option ID=5601]
2[Option ID=5602]
3[Option ID=5603]
4[Option ID=5604]

SI. No.81
QBID:13546856

In Indian context, the emphasis on Import Substitution often run counter to

(1) the objective of managerial development
(2) the objective of sports development

(3) the objective of skill development

(4) the objective of technology development

YRd & ey H, e EE w) g9, wig: e F 9§ e Sewl #1 9 3 5 S
T g ?

(1) YEY9 & (9™ &1 5™

(2) TTEHG & [dF™ &1 Ind

(3) ST fEF &1 3o

(4) TEAIS! G5 &1 35

1[Option ID=5605]
2[Option ID=5606]
3[Option ID=5607]
4[Option ID=5608]

Sl. No.82
QBID:13546857

Reasons for Adopting Globalization.

A. Profit advantage

B. Growth Opportunity

C. Domestic Market Constramts
D. Spin off benefits

Choose the correct answer from the options given below :

(1) Aand B
(2) Cand D
3) A.BanD

(4) All of these
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PSR BT A F FRO o

A, TG

B. 9fg & 2@

C. O¥g 9WR & &91g

D. & ias gy | @y

i feu U @l 9 999 Suged TR &1 994 Bifud:
(1) ATUB

(2) CTuD

3) A.B.uD

(4) T+

1[Option ID=5609]
2[Option ID=5610]
3[Option ID=5611]
4[Option ID=5612]

Sl. No.83
QBID:13546858

Arrange the following acts in the order in which they came into force.

A. The Monopolies Restrictive Trade Practice Act
B. Indian Contract Act

C. The Sale of Goods Act

D. The Foreign Exchange Management Act

Choose the correct answer from the options given below:
1) B.C.A.D

2 C.A.D.B

3) A.B.C.D

4) D.C.B. A

Feieiaa siafaa $1 39 T sH & ®9 H saaRyd &1 |

A. TEIUSER quT AEys AOiie ggen AS-oH
B. ydg g sfafae

C. A f[dwg sfafam

D. =i qa1 vay afdfmas

S fgu o Ul A O g 3UY 36X ol A hilelT:
1) B,C,A.D
2) C.A.D.B
3) A.B.C.D
4) D.C.B.A

1[Option ID=5613]
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2[Option ID=5614]
3[Option ID=5615]
4[Option ID=5616]

Sl. No.84
QBID:13546859

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Industrial policy 1991 mitiated liberalisation of Indian economy.
Reason R : Industrial growth was very slow before 1991.

In the light of the above statements, choose the correct answer from the options
given below:

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) A is true but R 15 false.
(4) A is false but R 15 true.

A & we ey

YA - 3NN M 1991 ( Assertion A ) H YR fcga® H ISRIGT
@1 Ugd B GIRT HYF (Reason R) P EIH |

BYTII : 1991 UG SIS gi Fga < o |

IWRIad HYH & HTdld H, Aid [0 U f[deedi § § 9al IR &1 99 I |
(1) B SR I I 9 § AT R, A DI ol ouadl §

(2) HYF1 IR I SHI T & AP R, A BT &t Ore 61 8

(3) HYT1IA ¢. Afh- PUT I 3T &

4) YT IFI e, AT P Id

1[Option ID=5617]
2[Option ID=5618]
3[Option ID=5619]
4[Option ID=5620]

Sl. No.85
QBID:13546860

Which of the following is not an objective of planning ?
(1) Economic growth
(2) Setting of Heavy Industry

(3) Modernisation
(4) None of these

IECIN R R AR R R e i A R i-to e i -
(1) afife ofE
(2) MR I BT TG
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(3) anyfFaiaIm
(4) sTH 9 S5 T8

1[Option ID=5625]
2[Option ID=5626]
3[Option ID=5627]
4[Option ID=5628]

Sl. No.86
QBID:13546861

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Ratio analysis is one of the tools employed to know the financial
health of a concern.

Reason R : Ratio analysis is not the only technique available to take mvestment
decision.

In the light of the above statements. choose the correct answer from the options
erven below:

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R 1s NOT the correct explanation of A.

(3) A is true but R s false.
(4) A is false but R 15 true.

S S1 $yA 23U U 2 U AfiFHYT Assertion A YT G T TRV Reason R F w1  fafa
%

ey A - [ o 901 & foa o Rl 999 & e Swam &1 o= el fafiat & 4
OTa e o A g

HRU R ; FEr ol 89 % o Faa sy Gy € ue Suas R T8 8

SWRIad HYA @& s H, A" [6U T fdeedl J F 95l S &1 99 i |
(1) A SRR IH T8 aUI R, A 91 981 e &

(2) A SRR EH¥61§ g R, A F1 981 oren TE 8

(3) ANSI e WgR T &

(4) ATTAE RgR T &

1[Option ID=5629]
2[Option ID=5630]
3[Option ID=5631]
4[Option ID=5632]

Sl. No.87
QBID:13546862
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Workmg Capital = 60,000
Current Ratio=2.5:1
Liquid Ratio=1.5:1

What 1s the value of stock ?
(1) 60.000

(2) 1.00.000
(3) 20.000
(4) 40.000

HIIRE 9ot = 60,000
A U =2.5: 1
@I =1.5:1

R B Hed 71 R 7
(1) 60.000

(2) 1.00.000

(3) 20.000

(4) 40.000

1[Option ID=5633]
2[Option ID=5634]

3[Option ID=5635]
4[Option ID=5636]

Sl. No.88
QBID:13546863

Which of the following are the qualitative characteristics of financial statement ?

A. Relevance

B. Reliability

C. Comparability

D. Understandability

Choose the correct answer from the options given below :
1) A.Cand D
(2) B.Cand D

(3) Band C
4) AAB.Cand D
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faxfia faavor @t qurers fadivan Pefafaa #3 s @E 2

A. WSS
B. faya-taa

C. gaATEEdl
D. ST

1 feu U @l 9 999 Suged IO &1 994 BIu |
(1) A.CTuD

(2) B.CauD

(3) BaurC

(4) AAB.CTuD

1[Option ID=5637]

2[Option ID=5638]

3[Option ID=5639]
4[Option ID=5640]

Sl. No.89
QBID:13546864

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Under dimmishing balance method of depreciation, the charge for
depreciation keeps on diminishing year after year in all subsequent years.
Reason R : Under dummishing balance method, the rate per cent at which
depreciation is written off goes on dimmishing from year to year.

In the light of the above statements, choose the correct answer from the options
given below:

(1) Both A and R are correct and R 18 the correct explanation of A.

(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R 15 incorrect.
(4) A is mcorrect but R is correct.

i &1 U fy Y 7 U P (Assertion A) w9 H ff@d 8 O gE SUS SR
(Reason R) & 30 #:

HHHYT A : 519 S GIAH GgoH Y & orla, 519 & 10 gH1E |96 &) 91 o ard
ufvadf a6t & gedht ot ©

HRU R : 519 $ gHEAM F-qo 918 & e, ford & Wio=d 0= 519 &1 s@oad &l
a1 2, 99 &2 a9 &7 gl ol § |

IWlad FYA & A7 H, Hd fau U fdeed! 9 w5l 39 &1 99 e |

(1) A SRR EA ¥@¢ IR R, A 9 98! o0/ &

(2) A SRR EAT@E #fFT R, A T 76 e T8

(3) ATTE AHTR T2
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(4) AmgcdAR TR

1[Option ID=5641]
2[Option ID=5642]
3[Option ID=5643]
4[Option ID=5644]

Sl. No.90
QBID:13546865

In case of Installment payment system the ownership is transferred from the
vendor to the purchasee:

(1) Immediately

(2) On the payment of last instalment

(3) On the Recovery of goods

(4) On the payment of Insurance premium

fopeit fepeay o somedt # fea 510 SER &1 wfia & s L BT ? |
(1) TP

(2) 3fcH % & Yyaa

(3) H@ F urie W

(4) HI HIFHTH & YA W)

1[Option ID=5645]
2[Option ID=5646]
3[Option ID=5647]
4[Option ID=5648]

Sl. No.91
QBID:13546866

On the admission of a new partner, the balance of the profit and loss adjustment
account should be transferred to the capital account of

(1) All partners in their new profit-sharing ratio
(2) Old partners n their old profit-sharing ratio

(3) Old partners in their new profit sharing ratio
(4) Old partners in their sacrificing ratio

UF 90 TeYFT @ Uiaff 81 W, 1Y a1 513 SHEeH od & fead dof a9 § geiand
foran o =g 2

(1) I FEHIRE! &1 396 78 TH-TgHeH & 3g97d H |
(2) W FeHIREl BT 396 [ TIH-TeHEH & urd H |
(3) TH FEHIRE] 1 I7F T4 TH-TgHEH & AT 7 |
(4) A FeHIRE! S 376 SeuHSN & Jad | |

1[Option ID=5649]
2[Option ID=5650]
3[Option ID=5651]
4[Option ID=5652]

Sl. No.92
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QBID:13546867
Which one is not the main objective of fiscal policy out of the following ?

(1) To promote price stability

(2) To minimize the inequalities of Income and Wealth
(3) To promote employment opportumnities

(4) To mcrease liquidity in the economy

Fraftiad & 3 S a1 s Tws N Hifd &1 7 S T8 ?
(1) Hed R #1 Urdiied S |

(2) 3@ T Y= &I fq9HdT B FH S |

(3) ISFTR & 3EE| B! WHIRd B |

(4) srfogawyt # avaar # gf @

1[Option ID=5653]

2[Option ID=5654]

3[Option ID=5655]
4[Option ID=5656]

Sl. No.93
QBID:13546868

Match List - I with List - IT

List-1 List - II
(Aggregate) (Formula)

Private Income - Undistributed Corporate
Profit - Profit taxes

B IDispasable Income | II |Personal Income - Direct Taxes

A |Perscrna1 Income I

INNP at market price - Indirect taxes +
Subsidies

D [NNP IV |GNP - Depreciation

C [WNP at factor cost | 111

Choose the correct answer from the options given below :
(1) A-IV, B-1, C-III. D-II
(2) A-III. B-1V, C-II, D-I
(3) A-L B-II. C-III. D-IV
(4) A-L B-III, C-II, D-IV
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Il 1S 1Y Gl 11 DT e Sifoy
g Tl -1

(A7) qA)
i i om i aﬁﬁﬁﬂ&nﬁ-aﬁaﬁﬁmw-mﬂ
B [Udied 30 I [OfadTd 31 - Ud& $Y
o [T WA | (SR He W Had A9 3dTe
R 3diG UG IR Ta el
D g AP e IV [EITaUl - 3™

i fdu 7T famedl & 9 To! IR 1 994 BifoId:
(1) A-IV. B-I. C-III. D-II

(2) A-IIL B-IV, C-II, D-I

(3) A-L B-II, C-IIL, D-IV

(4) A-L B-IIL C-IL. D-IV

1[Option ID=5657]

2[Option ID=5658]

3[Option ID=5659]
4[Option ID=5660]

Sl. No.94
QBID:13546869

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Industrialisation of an economy 1s considered synonymous with
erowth.

Reason R : The transfer of resources from agriculture to industry may be capital
or labour or both.

In the light of the above statements, choose the correct answer from the options
given below:

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is NOT the correct explanation of A.

(3) A is true but R is false.
(4) A is false but R 1s true.

HE €1 BYA U Y 8 0% atfieuT (Assertion A) % U H faf€d € a1 g0 396 SR
(Reason R) @ »4 #:

HfiywuT A - & spfarawn & ieifen &1 sua! ofe & Wi AT o & |

HRU R ; 5 ST B a6 ST BT S-020 oieTd $5°TT 91 iR ST 8 81 96l &
|

SUREd HYA & HE °, A9 6 70 [dFEeal § 9 ol 9o &1 904 S |
(1)
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ARREAI G0 E IR R, A F T O &

(2) A 3R R SHI g0 ¢ afEa R, A $1 921 ourem 781 &

(3) AGUEdFEIR 3T &
(4) AW edFETRIT®

1[Option ID=5661]
2[Option ID=5662]
3[Option ID=5663]
4[Option ID=5664]

Sl. No.95
QBID:13546870

Match List - I with List - IT

List - 1
(Institution / Act)
A Unit Trust of India

Imperial Bank of

B ;
India

C Banking Regulation
Act
LIC

I
II

III
1A%

List - II
(Year of Establishment)
1921

1956

1964
1949

Choose the correct answer from the options given below :

(1) A-IIL B-IV, C-1, D-II
(2) A-IV, B-III, C-II, D-I
(3) A-III B-1. C-IV, D-II
(4) A-I, B-II, C-III. D-IV
e & v g o e e

T - 1

e 22 % sisar
srfifvoe §% i i
st Froms sfafag
g s fFm

Ciniw e

I
1I
III
IV

gt - 11
(RITT1 &1 TY)
1921
1956
1964
1949

e 2w 9w fOehedl A S HE SO 994 it

(1) A-III, B-IV, C-1, D-II
(2) A-IV, B-III, C-II, D-I
(3) A-III, B-1. C-IV, D-II
(4) A-I B-II, C-III. D-IV

1[Option ID=5669]
2[Option ID=5670]
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3[Option ID=5671]
4[Option ID=5672]

Sl. No.96
QBID:13546871

Match List - I with List - IT

List-1I List - II
(Financial Institutions | (Year of Establishment /
Events) Occurance)
A [Reserve Bank of Indha | I [1948
Nationalization of 14
B lmajor Commercial II 1935
Banks
MNationalization of &
€ |Commercial Banks i [12e9
D [ECI IV |1980

Choose the correct answer from the options given below :

(1) A-II. B-IV. C-III. D-I
(2) A-L B-II., C-IIIL. D-IV
(3) A-IL B-I. C-III. D-IV
(4) A-IL B-III. C-IV. D-I

Il 1S 1Y Gl 11 DT e Sifoy
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ol -1 ol -1
(I%?ﬂum'%rrr{ crﬁﬂeqm) (T 9y |/ gfed s
YR [o1d 8@ I [1948
5 145@6@@5%@ I e
ﬁl’ =
C %@Waiﬁiiaaiéﬁaﬂ m (1969
D |33 U% Ol 3fe. v 1980

i fdu 7T famedl & 9 To! IR 1 994 BifoId:

(1) A-IL. B-IV. C-III. D-I
(2) A-L. B-II. C-III. D-IV
(3) A-II. B-I. C-III. D-IV
(4) A-IL B-III. C-IV. D-I
1[Option ID=5673]
2[Option ID=5674]

3[Option ID=5675]
4[Option ID=5676]

Sl. No.97
QBID:13546872
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RBI Notifies CRR under section of Banking Regulation Act, 1949,
(1) 24
(2) 36
(3) 40
(4) 42

HRGE g §&. dfdT Hame AfafgH. 1040 ®F 4RI & 3idrid
T 3R.IR. Bt RREAT TR |

(1) 24
(2) 306
(3) 40
(4) 42
1[Option ID=5677]
2[Option ID=5678]

3[Option ID=5679]
4[Option ID=5680]

Sl. No.98
QBID:13546873

Which of the following is not a negotiable Instrument ?
(1) Pay order

(2) Cheque

(3) Bill of Exchange

(4) Bank draft

FEdd e o Rem yE T8 & ?
(1) YFTA e

2) ==

(3) fafmg A

(4) §F F TR

1[Option ID=5681]

2[Option ID=5682]

3[Option ID=5683]
4[Option ID=5684]

Sl. No.99
QBID:13546874

In context to Information Technology and Communication, ISDN stands for

(1) Integrated Security Digital Network
(2) Integrated Services Digital Network
(3) Integral Services Digital Number
(4) Integral Security Digital Number

TE U@t iR SR & ded H el s e g L

For More PDFs Visit: LearningMantras.com


https://aglasem.com/
https://docs.aglasem.com/

(1) s i fafea Jeosd
(2) sfedes iy fEfvea Jeas
(3) sfera wffew feforea Faw
(4) sfema faamied fefoea Fa

1[Option ID=5685]
2[Option ID=5686]
3[Option ID=5687]
4[Option ID=5688]

Sl. No.100
QBID:13546875

Paperless office for modern busmess units focuses on :
(1) No use of buildings and equipments

(2) No use of human resources
(3) Use of electronic mode for communication
(4) More and more use of physical files

gﬂgﬁ?ﬁ IR SPH1U] P AT DI Aod BT .o
|

(1) Y| qUT SIDUI D] By YA Tl BT |

(2) HG TG B His GO = BT |

(3) JOR & AU saiae i H1e0H &1 9aiT |

(4) Yifaw( o ) TEal &1 2 I 1fte 9gi |

1[Option ID=5689]
2[Option ID=5690]
3[Option ID=5691]
4[Option ID=5692]

For More PDFs Visit: LearningMantras.com



https://aglasem.com/
https://docs.aglasem.com/



